1. a)

ac — be
ac + be

5c
= .9
o2 2lcd

12ab _
25¢

i b
206i—1)  i—1

m-+n

—-—m-+n

ik?
2k — ik?

<3p2m 4p:17y) Tabe

2022 63a2be

(

" 8aZy

8b2¢:d. Ted 1442
9a5 " 12a3 3b2

704.

725.

725.

717.

715.

704.

725.

725.

717.



3. a)

2a +2b 6a + 6b
3a—3b bHa—>5b

m-+mn m-—mn

5 B 3
c—d c+d
2 —6c+9

3c—9

2 —d* 3c+3d
(c+d)? 4c—4d

m-—-n mQ—|—n2

2m +2n  m?2 —n?

20 —2  4x —4

717.

705.

726.

727.

718.

718.

706.

726.

720.

719.



+

1

8a

(

2 —18b2

202 + 3ab  4ab — 6b2

1—2n+n?
n? —1

5—yg

6

g2 —8g+16

59— 20

(2m—|—1

2m—1 2m+1

3a 2a

2m—1> 4m

“10m—5

6a? + 10a

1-3a 3a+1

).

"1 —6a+ 9a2

720.

706.

720.

720.

720.

721.

708.

721.

728.



4a? — 8ab + 4b?
3a2 — 3b2

728.

709.

728.

728.

728.



